°°: I % g g vé\ Multiplicera decimaler med tiomakter
oA

namn: Datum: Poiing:
9,917 x 100000 = 7,618 x 1000000 =
3,352 x 100000 = 4,297 x 100 =
7,93 x 100 = 3,977 x 100000 =
8,467 x 1000 = 6, 988 x 10000 =
5,729 x 100000 = 9,527 x 10000 =
8,327 x 1000000 = 9,519 x 1000 =
4, 864 x 10000 = 1,986 x 100 =
9,554 x 1000 = 10, 158 x 100000 =
5,58 x10= 6,988 x 10 =
8,286 x 100 = 10, 423 x 1000000 =
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namn: Datum: Poiing:
9,917 x 100000 = 991700 7,618 x 1000000 = 7618000
3,352 x 100000 = 335200 4,297 x 100 = 429.7
7,93 x 100 = 793 3,977 x 100000 = 397700
8,467 x 1000 = 8467 6, 988 x 10000 = 69880
5,729 x 100000 = 572900 9,527 x 10000 = 95270
8,327 x 1000000 = 8327000 9,519 x 1000 = 9519
4,864 x 10000 = 48640 1,986 x 100 = 198.6
9, 554 x 1000 = 9554 10, 158 x 100000 = 1015800
5,58 x 10 =155.8 6,988 x 10 = 69.88
8,286 x 100 = 828.6 10,423 x 1000000 = 10423000
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